M1 Chapter 1 Review

Solve the equation. Show all work.
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Write in words, graph on a number line, then solve the equation
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Write an equation and solve to find the unknown. Show all work.

39) The perimeter of the triangle is 45 ft.

XA2 ¥ X+ZAXeR 2 4G T NG
3)(_} \',‘.}. :L(.C) 7o (x+13) ft
-F - ==
3% =¥ ®x=93 ok =93

40) A mechaftic charges $43 per hour for labor and $217 for parts. The total bill is $432. How many
hours did the mechanic work? h % of h,ou.v S

Y3W+ 213 = 432 43h =2Z1S
-3 -2t sy 43
Y3 = 215

= i h = 5'7 howv s
41) There are 158 students on a field trip. Five students traveled in cars amwmﬁaﬁgn

buses. How many students traveled in one bus? X = #,Q-F- Q—\-\»—_\Md_s "0\ oNns bus

3K+2 = IC)E_Y;

42) The sum of Stl?nesanuna)er and 6 is -29.
5X +lo= —7-°s 6x=-35
i =B ® e
6)( = - K‘;—:}‘

42) 17 less than twice a number is 21.
ZX -1 3 = 2\ 2%=3%
+\F +1F f 2. K— [c]
2 3%

43) 6 more than the quotient of a number and 4 is 3.
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